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(N mex®E (FE L& E) 0)
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4T E1—-FP30 (1) 63 m
F%T E2—FP30 (1) 99 m
BT EBAVEN VVR3. 5sq—3C 13 m
BT EBAVEHN VVR3. 5sq—2C 29 m
FBof L BAMVEWN 1V3. 5sq 42 m
BT BAFPEN VVR3. 5sq—4C 78 m
BT BAFPEN VVR3. 5sq—3C 65 m
BT BAFPEN VVR3. 5sq—2C 122 m
BT BAFPHN VVR3. 5sq—4C+1C 41 m
BT BAFPEN 1V3. 5sq 306 m
BT BNy N VVR3. 5sq—4C 10 m
BT BNy N VVR3. 5sq—4C+1C 10 m
BfR T EBANEYY RN IV3. 5sq 10 m
BT BHNZ7YV—727%AN VVR3. 5sq—4C+1C 10 m
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BlfiE=T BAVEN VVR3. 5sq—4C+1C 211 m
BlfiE=T BAVEN VVR3. 5sq—2C+1C 15 m
BlfiET BAVEN SC—VVR3. 5sq—4C+1C 26 m
ShTR = 1 3,661, 691
Il (R E) = 1 483, 000
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